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Question 1
Bsdmm3zmow 9bgMaogdl dmeol, MHmIganl 459Bbos oo M30MsEIlmds, Jomgodol,
AOBLEMOEMYBOL, F9MOJIbOL s JBIJEHMM© FdMYghgdols MZselsBOOLO:

Select one:

a. Jodon®b.

b. 899560390L;
C. LoMOMOU;

d. 9ol Beal;

Question 2

Hmpm® 9gddOI FOgeb gfimgds dshEogo?

Select one:

a. LOESE IBO SO FobdEM30Gds;

b. bysg @gbo MbEsE gHobyer 363HM3©YDS;

C. L5SE 33993L 3oMoErgEMo FggPmgdwyro [iMgool Mdbgdo.

Question 3
390 GeOIMs Jggbodsdgds xme-wgbiol 3sbmbl?

Select one:
2. @@= I’ Rt
V-t
b.@ =T
_ _t
C. — I'R
_ LR
d. Q — f
Question4

BOIMMZWOWMORb HMIgEo IMs30L ToMyo Jdggdol 3mgB0iE0gbE0s 39@0?
Select one:

a. Jycols d6ogsls.

b. m®omgwol dMogsl;

C. dosfi30l dMs35L;

d. 99dBHO™ dMs35L;

Question 5


http://testing.gtu.ge/filter/tex/displaytex.php?texexp=Q%3DI%5E2Rt
http://testing.gtu.ge/filter/tex/displaytex.php?texexp=Q%3D%5Cfrac%7BV%20%5Ccdot%20t%7D%7BI%7D
http://testing.gtu.ge/filter/tex/displaytex.php?texexp=Q%3D%5Cfrac%7Bt%7D%7BI%5E2%20R%7D
http://testing.gtu.ge/filter/tex/displaytex.php?texexp=Q%3D%5Cfrac%7BI%20%5Ccdot%20R%7D%7Bt%7D
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(33090 ©IBOL g9b9MeBHMMT0 (330090 Jegd@®MMTodmAMH939dge0 dogrs MMIGEo
AM0ambmdgBHMHomwo gwbdzool 356mbom 033wgds?

Select one:
a. bLobmLols;
b. 3m@sbgyglob.
C. &obgqlols;
d. bgzobLols;

Question 6

0960l s dsd30L LosbAMOTM® (33Wso Ibol FMHgwdo 58 LowoYgdol MHmIger 3603369 MdYOL

0y9bgd96?

Select one:

a. LoAMsEm 36033690 MdGIL;

b. 8mddg 9608369mdIRL;

C. dosbemgdom 3603369 mdgoL;
d. m3¢08s5em® 36093690 md9dL.

?): ?32223515 093l 9300 (33Wso Y60l Mo, Lysg 303I3OMBdO’ MOl BsG o R-
H9BoLEHMM0, L-3mFs s C-3mbogbls@m®o, Gmgbsg 95J&H0w 0bdgom®o fobswmds
AME05 M35JGH00 39g350vIM0 Fobswmdols?

Select one:

a. sbgmo dgdmbz930L ML §MHgo 0mM0dgds.

b. §M9wd0 sy0o 593l Imzang RsOGMZL;

C. §690d0 500 543L ©Ybgdol MHYHMBIBL;

d. §69080 s@y0wo 5d3b dsd39d0L MHgbmbsbl; Z=R; ¢=0

Question 8

M3l MEOOL (3390 ©IboL HMgol LMo A5TBHIMMDS, HMEILIE Mo 356M9EGEMS
560l Botoveo R-OgbobBmemo, L-3m3s s C-3mbogblo@mmo?

Select one:

a. Z =VG? 4+ B?

b.Y = VG2 + B2 4z G = 7 Br = 55 Bc =we, B =B — Bg
. Y=G+B

0.2 = VTR


http://testing.gtu.ge/filter/tex/displaytex.php?texexp=Z%3D%5Csqrt%7BG%5E2%2BB%5E2%7D
http://testing.gtu.ge/filter/tex/displaytex.php?texexp=Y%3D%5Csqrt%7BG%5E2%2BB%5E2%7D
http://testing.gtu.ge/filter/tex/displaytex.php?texexp=G%3D%5Cfrac%7B1%7D%7BR%7D%2C%20B_L%3D%5Cfrac%7B1%7D%7B%5Comega%20C%7D%20%2C%20B_C%3D%5Comega_C%2C%20B%3DB_L-B_C
http://testing.gtu.ge/filter/tex/displaytex.php?texexp=Y%3DG%2BB
http://testing.gtu.ge/filter/tex/displaytex.php?texexp=Z%3D%5Csqrt%7BX%5E2%2BR%5E2%7D

